Remesh’'s Mathematics [ASSIGNMENT 1]
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SET ASSIGNMENT 1

Describe the following sets by roster method:
i. {x:25x2+30x+7:0,XEQ} iv. {x:x2+x+1=0,xeC}
ii. {x:7x+9<55xeN} v. {x:|q <3 xez}
iii. {x:|x|=4,x2 +16:0,XGN}
Describe the following sets by property method:
i. {35917,33} iii. {5,711,1317}
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Which of the following sets are null sets:

i. A={x:x<land x> 3} ii. B:{x:xzzgand3x=7}

iii. C:{x:x2 -1=0,xe R} iv. D={x:xisaneven prime number }
Which of the following are singleton sets:

i. A={x:3x—2=0,xeQ} ii.B:{XIXS—].:O,XER}

iii. C={x:30x-59=0,xe N} iv. D={XZ|X|=:LX€Z}

Write all the proper subsets of the set {~1,3,4}.
If A={3,681519}and B = {1,2,6,8,14,15} then verify that AAB =(AUB)—(ANB).

If A= {x x3 —1:0}, B= {x X2 4x+1= 0} find A~ Bwhen x is a (i) real number (ii) complex number.

Write the following intervals in set builder form:

a) [-2.3) b) (0, 5] ¢) (-1, 3) d) [-2, 3]
Write the following intervals in the roster form:
a) {x:xeR,—2<x<0} b) {x:xeR, 2<x<4} ) {x:xeR, 2<x<4}

d) {x:xeR, —3<x<5}

If U={1,2345,6,789} ; A={1,2,3};B={2,35}; C={35,7} , then prove that:

i) An(BUC)=(AnB)U(ANC) i) AU(BNC)=(AUB)N(AULC)

Using the above sets, find the following questions:

i) A—(BuC)' ii) An(BNC)’

If A={1,2,3,4,5} , then the number of proper subsets of A is ......... a)120 b)30 <¢)31 d)32

If A and B are two given sets, then AN (AN B)® is equal to

a) A b) B c) (AnB)¢ d) ¢

If A={1,2,3,4} and B={3,4,5,6}, then shows that n(AAB)=n(A)+n(B)-2n(ANB).
Draw the Venn diagrams for the following sets:

a) A—(BuC)' b) AU(BNC) c) An(BUC) d) (AUB)-(ANB).
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